
[L]

[R]

YAMAHA YZF-R6 ('06-’07) FRAME SLIDERS

M10-65mm

SLIDER L-8

COLLAR 15-10

WASHER M6

M6-30mm

PLATE [L]

M8-30mm

WASHER M8
SPLIT WASHER M8

COLLAR 10-10
M6-30mm

M10-65mm

M8-30mm

WASHER M8

WASHER M6

SPLIT WASHER M8

SLIDER M-8

PLATE [R]


